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o000
00 (10° kgf/cm?) Ooooo0
Er Er Er VLT vTL VLR VRL VRT VTR
Do0ooo0ooo 119 9.2 5.1 | 0.47 | 0.025 | 0.37 | 0.040 | 0.44 | 0.25
ooooooooo 166 | 11.2 | 5.8 | 0.51 | 0.015 | 0.42 | 0.038 | 0.68 | 0.31
00 75 6.0 3.0 | 0.60 - 0.40 - 0.90 -
oooQ 120 | 12.5 | 6.5 | 0.60 - 0.40 - 0.65 -
-1 Yoy _ Viz 7 -1 0.2 0.025 7
E, E, Ey 0.5 0.5 0.5
_ Yyx 1 _ Wy | _ | 04 1 ~0.03 1 )
E, E, E, | — 1.0 1.0 1.0 GPa
Vg Vzy 1 o 0.5 . 0.3 1
L FL E. E, A L 10.0 10.0 10.0
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xr z
O0000ooooOoO 430°C \
Dooooooooood —5% 28 §
Yy
1/400
p000000
D000 xyy,z u (mm) v (mm) | w (mm)

7,10,10 (1,5) | 4.057 x10~° | -3.803 2.445
8,10,10 (1,5) | 3.994 x10~° | -3.804 2.499
9,10,10 (1,5) | 3.947 x10~° | -3.805 2.541
10,10,10 (1,5) | 3.910 x10~° | -3.805 2.573

7,10,10 (2,5) | 4.156 x10~° | -3.802 2.369
8,10,10 (2,5) | 4.067 x10~° | -3.803 2.445
9,10,10 (2,5) | 4.002 x10~° | -3.804 2.499
10,10,10 (2,5) | 3.954 x10° | -3.805 2.541
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0000 mmU
OO0D000d0dl17 x 10 x 100

0000 mmU
UO0o0dbdil10 x 10 x 100
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K

Or (MPa)

0, (MPa)
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Tr> (kPa)

Try (kPa)
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2400 ~ 3600 kPa

Ty~ (kPa)
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